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1. CBegenne K npocreiiiieMy ypaBHEHHIO <

2cos( -}- 3x)= V2

cos(g -3x) = 1/;

(% - 3x) = Tarccos g + 2nn, neZ

é‘ 3x) =+ -} +2nn, neZ

-3x=+ %—g+21m,nez

T T 2Tn
X _12+12+ - ,NEZ
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4sin*x+11 sinx —3=0
sinx =t
4t4+11t-3=0

D=121+48=169

-11+13 1 =11-13 _
G = an  REaTIRRRELE
8 4
.. 1 .
smxzz sinx =—3

| x=(—1"): arcsin% +nn, neZ
| |—3| > 1 — pelieHU# HET
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3. MeToa pa3/io:keHUuss HA MHOXKUTEIHN

2sinx-cos5x — cos5x =0
cos5x (2sinx —1) =0

cosS5x =0 2sinx —1=0
1
5x=t arccos 0 + 2nn, neZ sinx = >

5x=i-;5+ 2N, neL
x=(—=1") - arcsin Z+ 2ntn, neZ
| T . 27N 2
| Be= iﬁ + ?,nez




4. PelweHne ogHOpPOAHLIX YPaBHEHMN
A) yp-Hue nepsoii cmenenu

sin2x+ cos2x =0 |/c032x

sin 2x s 2x
COS 2X COS 2x

tg 2x + 1=0
tg2x =-1
2x = arctg (-1)+ n, neZ

0

2x =-arctg 1 +1nn,nez
2X = - §+7m, nez
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sin?x — 3 sinxcosx + 2cos®x =0 /cos®x

sin’x 3sinxcosx 2cos?x

cos2x  cos2x C0S?x =9 i
tgzx 3sin x + 2=0 =

f COoS X = =
tgéx — 3 tgx+2=0 —
tgx=t tg x = 2 tgxi=l1 =
t?-3t+2=0 x=arctg2 +nn,neZ x=arctgl +mI ne
D=9-8=1 x=§+1m,neZ
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acosx+bsinx=va?+ b?%-sin(x+ @)
. a b

S1n = = - _

P= Tatro? G Pr a?+b?

8cos x + 15sinx =17

Va2 + b2=1/64 + 225=1289 = 17 —uucno, Ha KOTOPOE HYX
NenuThb

8 cos x + 15sin X 117
17 17. . 17

8.2 ,15\2 W 15
[ . —— + T = — —
T.K (17) (17) 1, mo = - sin @,a— - cos@
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r Toz2da, sin @ cos x + sin x cos@ =1

sin @ cos x + sinx cos@ = sin(x + @)
sin(x+ @)=1
X+ @ = arcsinl

X+@ = (—1)"--725+1m,neZ

SR
LK. 5 -Sin¢@

4 s O
x=(C=D". 5 — arcsin— + mn, neZ
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